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: 100kN/m%E#BZ 5 - -~ - -|3mZEHEAS -~ = = -| 100kN/mM%E# %% - -~ - -|3mZEBZS -~ = = =
Fn Lot 1.00/ 000 ~ 256 3381 #hilst | 000 ~ 256 243 12.31 Fn Lot 1.00] 500 ~ 5.00 3381 #hilst | 500 ~ 500| 243 12.31
9 100kN/m%ZE#BZ 5 - -~ - —-|3mZEEZAS -~ = = -| 100kN/mM%E# %% - -~ - -|3mEBZS -~ = = =
Fn Lot 1.00/0.00 ~ 6.67 84.25| #hil4t | 000 ~ 6.67| 1.89 9.55 Fn Lot 1.00] 500 ~ 8.40 8425 #hilst | 500 ~ 840| 1.89 9.55
3 100kN/m%ZE#B A5 - -~ - -|3mZE#EZS -~ = = -| 100kN/M%E# %% - -~ - -|3mZEBZS -~ = = =
Fn Lot 1.00/0.00 ~ 6.55 8251 #hilst | 000 ~ 655 1.92 9.69 Fhn Lot 1.00] 500 ~ 8.30 8251 #hil4st | 500 ~ 830| 1.92 9.69
4 100kN/m%ZE#BZ 5 - -~ - —-|3mZEEZS -~ = = -| 100kN/mM%E# %% - -~ - -|3mZEBZS -~ = = =
Fn Lot 1.00]0.00 ~ 431 53.88| #hLlst 000 ~ 431 225 11.39 Fn Lot 1.00] 500 ~ 6.80 53.88| #hilst | 500 ~ 6.80| 225 11.39
5 100kN/m%ZE#BZ 5 - -~ - -|3mZEEAS -~ = = -| 100kN/mM%E# %% - -~ - -|3mZEBEZS -~ = = =
Fn st 1.00]0.00 ~ 564 7051 £hilst | 000 ~ 564 2.16 10.89 Fhn Lot 1.00] 500 ~ 8.50 7051 #hilst | 500 ~ 850| 2.16 10.89
6 100kN/m%ZE#BZ 5 - -~ - -|3mZE#EAS -~ = = -| 100kN/mM%E# %% - -~ - -|3mEBZS -~ = = =
Fhn st 1.00/0.00 ~ 6.06 76.02| #hblst 1000 ~ 6.06] 1.92 9.69 Fn Lot 1.00] 500 ~ 7.40 76.02] #hblst | 500 ~ 740 1.92 9.69
7 100kN/m%ZE#BZ 5 - -~ - -|3mZEEEAS -~ = = -| 100kN/M%E# %% - -~ - -|3mZEBZS -~ = = =
Fn st 1.00/0.00 ~ 3.63 4580 #hilst 000 ~ 363 2.19 11.06 Fhn Lot 1.00] 500 ~ 5.10 4580 #hilst | 500 ~ 510| 2.19 11.06
100kN/m%ZE#BZ 5 ~ ImEHBAD ~ 100kN/m%ZEi#BZ 5 ~ 3mEBZ5 ~
Zh Lot ~ Zh Lot ~ Zh Lot ~ Zh Lot ~
100kN/m%ZE#BZ 5 ~ ImEHBAD ~ 100kN/m%ZE#BZ 5 ~ 3mEBZ5 ~
Zh Lot ~ Zh Lot ~ Zh Lot ~ Zh Lot ~
100kN/m%ZE#BZ 5 ~ ImEHBAD ~ 100kN/m%ZE#BZ 5 ~ 3mEBZ5 ~
Zh Lot ~ Zh Lot ~ ZhLlst ~ Zh Lot ~
100kN/m%ZE#BZ 5 ~ ImEHBAD ~ 100kN/m%ZE#BZ 5 ~ 3mEBZD ~
Zh Lot ~ Zh Lot ~ ZhLlst ~ Zh Lot ~
100kN/m%ZE#BZ 5 ~ ImEHEAD ~ 100kN/m%E#BZ 5 ~ 3mEBZD ~
Zh Lot ~ Zh Lot ~ Zh Lot ~ Zh Lot ~
100kN/m%ZE#BZ 5 ~ ImEHBAD ~ 100kN/m%ZE#B A5 ~ 3mEBZD ~
Zh Lot ~ Zh Lot ~ Zh Lot ~ Zh Lot ~
100kN/mMZ#B% % ~ ImEHEAD ~ 100kN/mM#Z#BZ % ~ ImEHEAD ~
Zh Lot ~ Zh Lot ~ Zh Lot ~ Zh Lot ~
100kN/m%ZE#BZ 5 ~ ImEHBAD ~ 100kN/m%E#BZ 5 ~ 3mEBZS ~
Zhnst ~ Zh st ~ Zhn st ~ Zh st ~
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